
625 SC SUPER-MOTO 2002 <2002><EU><972520>
IGNITION SYSTEM

414

Pos Part Number Description Additional Text Quantity

1 58330002000 IGNITION COVER 4K3 BLACK '99 1.00

2 0500050083 SPECIAL SCREW DIN7500-M 5X 8 1.00

3 58339005000 FLYWHEEL KOKUSAN 4K3 ''K8162'' 1.00

4 50031003000 RETAINING PLATE 1.00

5 58330002050 CLOSING COVER 4K3 1.00

6 0912050123 AH SCREW DIN0912-M 5X12 2.00

7 0912050153 AH SCREW DIN0912-M 5X15 2.00

8 0912060203 AH SCREW DIN0912-M 6X20 2.00

9* 58339004100 STATOR KOKUSAN 4K3 SC 2002 1.00

10 0770020490 O-RING 126,72X1,78 B70 1.00

11* 58339031100 DIGITAL BOX CDI SC 2002 1.00

12 0014060203 HH COLLAR SCREW M 6X20 WS=8 2.00

14 58439006000 Ignition coil 1.00

18 58030002050 PLUG M18X1,5 1.00

20 0015060163 HH COLLAR SCREW M 6X16 WS=8 FE, FS 2.00



30 58439093009 SPARK PLUG NGK DPR8EA-9 1.00

31 58031010000 Spark plug connector 1.00

32 0015060253 HH COLLAR SCREW M 6X25 WS=8 3.00

33 0015060303 HH COLLAR SCREW M 6X30 SW=8 LC4, LC4 SM, DUKE 1.00

34 0125060003 WASHER DIN0125-A 6,4 4.00
* = New part


